# Weierstrass transform associated <br> with the Hankel operator * 

Slim Omri, \& Lakhdar Tannech Rachdi


#### Abstract

Using reproducing kernels for Hilbert spaces, we give best approximation for the Weierstrass transform associated with the Hankel transform. Also, estimates of extremal functions are checked.


## 1 Introduction

The Hankel transform $H_{\mu}, \mu \geqslant-1 / 2$, is defined for all integrable functions on $\left[0,+\infty\left[\right.\right.$ with respect to the measure $\frac{r^{2 \mu+1}}{2^{\mu} \Gamma(\mu+1)} d r$ as

$$
\mathcal{H}_{\mu}(\lambda)=\frac{1}{2^{\mu} \Gamma(\mu+1)} \int_{0}^{+\infty} f(r) j_{\mu}(\lambda r) r^{2 \mu+1} d r
$$

where $j_{\mu}$ is the modified Bessel function of the first kind and index $\mu$.
Many harmonic analysis results related to the transform $\mathcal{H}_{\mu}$ are established in $[6,9,13,18,20,21]$.

Our purpose in this work is to define and study the Weierstrass transform $\mathcal{W}_{\mu, t}$ associated with the Hankel transform $\mathcal{H}_{\mu}$.

This transform is defined by

$$
\mathcal{W}_{\mu, t}(f)(r)=\int_{0}^{+\infty} \mathcal{E}_{t}(r, s) f(s) \frac{s^{2 \mu+1}}{2^{\mu} \Gamma(\mu+1)} d s
$$

where $\mathcal{E}_{t}(r, s), t>0$ is the heat kernel associated with the Hankel transform which will be defined later. This integral transform which generalizes the usual Weierstrass transform $[11,15,16]$, solves the heat problem

$$
\left\{\begin{array}{l}
\ell_{\mu}(u)(r, t)=\frac{\partial u}{\partial t}(r, t), \\
u(r, 0)=f(r),
\end{array}\right.
$$

[^0]where $\ell_{\mu}$ is the singular differential operator defined on $] 0,+\infty[$ by
$$
\ell_{\mu}=\frac{\partial^{2}}{\partial r^{2}}+\frac{2 \mu+1}{r} \frac{\partial}{\partial r} .
$$

Building on the ideas of Saitoh, Matsuura, Fujiwara and Yamada [5, 12, 14, 15,16 ], and using the theory of reproducing kernels [2], we give a best approximation of this transform and nice estimates of the associated extremal function.

Let $L^{2}\left(\left[0,+\infty\left[, \frac{r^{2 \mu+1}}{2^{\mu} \Gamma(\mu+1)} d r\right)\right.\right.$ be the Hilbert space of square integrable functions on $\left[0,+\infty\left[\right.\right.$ with respect to the measure $\frac{r^{2 \mu+1}}{2^{\mu} \Gamma(\mu+1)} d r$, and $\langle. \mid \cdot\rangle_{\mu}$ its inner product.

For $\nu \in \mathbb{R}$, we consider the Sobolev type space $\mathbf{H}_{\nu}^{\mu}([0,+\infty[)$, consisting of functions $f \in L^{2}\left(\left[0,+\infty\left[, \frac{r^{2 \mu+1}}{2^{\mu} \Gamma(\mu+1)} d r\right)\right.\right.$ such that the function

$$
\lambda \longmapsto\left(1+\lambda^{2}\right)^{\nu / 2} \mathcal{H}_{\mu}(f)(\lambda),
$$

belongs to the space $L^{2}\left(\left[0,+\infty\left[, \frac{r^{2 \mu+1}}{2^{\mu} \Gamma(\mu+1)} d r\right)\right.\right.$. Then for $\nu>\mu+1, \mathbf{H}_{\nu}^{\mu}([0,+\infty[)$ is the Hilbert space when equipped with the inner product

$$
\langle f \mid g\rangle_{\nu}=\int_{0}^{+\infty}\left(1+\lambda^{2}\right)^{\nu} \mathcal{H}_{\mu}(f)(\lambda) \overline{\mathcal{H}_{\mu}(g)(\lambda)} \frac{\lambda^{2 \mu+1}}{2^{\mu} \Gamma(\mu+1)} d \lambda
$$

Moreover, the kernel

$$
\mathcal{K}_{\nu}(r, s)=\int_{0}^{+\infty} \frac{j_{\mu}(\lambda r) j_{\mu}(\lambda s)}{\left(1+\lambda^{2}\right)^{\nu}} \frac{\lambda^{2 \mu+1}}{2^{\mu} \Gamma(\mu+1)} d \lambda
$$

is a reproducing kernel of the space $\mathbf{H}_{\nu}^{\mu}([0,+\infty[)$, where

$$
j_{\mu}(z)=\frac{2^{\mu} \Gamma(\mu+1)}{z^{\mu}} J_{\mu}(z)=\Gamma(\mu+1) \sum_{n=0}^{+\infty} \frac{(-1)^{n}}{n!\Gamma(\mu+n+1)}\left(\frac{z}{2}\right)^{2 n}, \quad z \in \mathbb{C}
$$

and $J_{\mu}$ is the Bessel function of the first kind and index $\mu$. Using the properties of the Hankel transform $\mathcal{H}_{\mu}$ and its connection with the convolution product, we show that the Weierstrass transform $\mathcal{W}_{\mu, t}$ is a bounded linear operator from $\mathbf{H}_{\nu}^{\mu}\left(\left[0,+\infty[)\right.\right.$ into $L^{2}\left(\left[0,+\infty\left[, \frac{r^{2 \mu+1}}{2^{\mu} \Gamma(\mu+1)} d r\right)\right.\right.$ and that for all $f \in \mathbf{H}_{\nu}^{\mu}([0,+\infty[)$,

$$
\left\|\mathcal{W}_{\mu, t}(f)\right\|_{2, \mu} \leqslant\|f\|_{\nu}
$$

Next, for $\xi>0$, we define on the space $\mathbf{H}_{\nu}^{\mu}([0,+\infty[)$, the new inner product by setting

$$
\langle f \mid g\rangle_{\nu, \xi}=\xi\langle f \mid g\rangle_{\nu}+\left\langle\mathcal{W}_{\mu, t}(f) \mid \mathcal{W}_{\mu, t}(g)\right\rangle_{\mu} .
$$

We show that $\mathbf{H}_{\nu}^{\mu}\left(\left[0,+\infty[)\right.\right.$ equipped with the inner product $\langle. \mid .\rangle_{\nu, \xi}$, is a Hilbert space and we exhibit a reproducing kernel, that is

$$
\mathcal{K}_{\nu, \xi}(r, s)=\int_{0}^{+\infty} \frac{j_{\mu}(\lambda r) j_{\mu}(\lambda s)}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}} \frac{\lambda^{2 \mu+1}}{2^{\mu} \Gamma(\mu+1)} d \lambda
$$

The last section of this paper is devoted to study the extremal function. More precisely, for all $\nu>\mu+1, \quad \xi>0$ and $g \in L^{2}\left(\left[0,+\infty\left[, \frac{r^{2 \mu+1}}{2^{\mu} \Gamma(\mu+1)} d r\right)\right.\right.$, the infimum of

$$
\left\{\xi\|f\|_{\nu}^{2}+\left\|g-\mathcal{W}_{\mu, t}(f)\right\|_{2, \mu}^{2} ; \quad f \in \mathbf{H}_{\nu}^{\mu}([0,+\infty[)\}\right.
$$

is attained at one function $f_{\xi, g}^{*}$, called the extremal function. We establish also, the following estimates

- For all $f \in \mathbf{H}_{\nu}^{\mu}\left(\left[0,+\infty[)\right.\right.$ and $g=\mathcal{W}_{\mu, t}(f)$,

$$
\lim _{\xi \rightarrow 0^{+}}\left\|f_{\xi, g}^{*}-f\right\|_{\nu}=0
$$

- For all $f \in \mathbf{H}_{\nu}^{\mu}\left(\left[0,+\infty[)\right.\right.$ and $g=\mathcal{W}_{\mu, t}(f)$,

$$
\lim _{\xi \rightarrow 0^{+}} f_{\xi, g}^{*}(r)=f(r), \text { uniformly. }
$$

## 2 The Hankel transform

We denote by

- $d \gamma_{\mu}$ the measure defined on $[0,+\infty[$ by

$$
d \gamma_{\mu}(r)=\frac{r^{2 \mu+1}}{2^{\mu} \Gamma(\mu+1)} d r
$$

- $L^{p}\left(d \gamma_{\mu}\right), p \in[1,+\infty]$, the space of measurable functions $f$ on $[0,+\infty[$ satisfying

$$
\begin{array}{ll}
\|f\|_{p, \mu}=\left(\int_{0}^{+\infty}|f(r)|^{p} d \gamma_{\mu}(r)\right)^{\frac{1}{p}}<+\infty, & \text { if } p \in[1,+\infty[ \\
\|f\|_{\infty, \mu}=\underset{r \in[0,+\infty[ }{e s s \sup }|f(r)|<+\infty, & \text { if } p=+\infty
\end{array}
$$

- $\langle. \mid .\rangle_{\mu}$ the inner product on $L^{2}\left(d \gamma_{\mu}\right)$ defined by

$$
\langle f \mid g\rangle_{\mu}=\int_{0}^{+\infty} f(r) \overline{g(r)} d \gamma_{\mu}(r)
$$

- $\mathcal{C}_{*, 0}(\mathbb{R})$ the space of even continuous functions $f$ on $\mathbb{R}$ such that

$$
\lim _{|r| \rightarrow+\infty} f(r)=0
$$

Let $\ell_{\mu}$ be the Bessel operator defined on $] 0,+\infty[$ by

$$
\ell_{\mu}(u)=u^{\prime \prime}+\frac{2 \mu+1}{r} u^{\prime}
$$

then for all $\lambda \in \mathbb{C}$, the following problem,

$$
\left\{\begin{array}{l}
\ell_{\mu}(u)=-\lambda^{2} u \\
u(0)=1 \\
u^{\prime}(0)=0
\end{array}\right.
$$

admits a unique solution given by $j_{\mu}(\lambda$.$) , where$

$$
\begin{equation*}
j_{\mu}(z)=\frac{2^{\mu} \Gamma(\mu+1)}{z^{\mu}} J_{\mu}(z)=\Gamma(\mu+1) \sum_{n=0}^{+\infty} \frac{(-1)^{n}}{n!\Gamma(\mu+n+1)}\left(\frac{z}{2}\right)^{2 n}, \quad z \in \mathbb{C} \tag{2.1}
\end{equation*}
$$

and $J_{\mu}$ is the Bessel function of the first kind and index $\mu[1,3,10,22]$.
The eigenfunction $j_{\mu}$ satisfies the following properties

- The function $j_{\mu}$ has the Mehler integral representation, for all $x \in \mathbb{R}$

$$
j_{\mu}(x)= \begin{cases}\frac{2 \Gamma(\mu+1)}{\sqrt{\pi} \Gamma(\mu+(1 / 2))} \int_{0}^{1}\left(1-t^{2}\right)^{\mu-1 / 2} \cos x t d t, & \text { if } \mu>-1 / 2 \\ \cos x, & \text { if } \mu=-1 / 2\end{cases}
$$

- For all $n \in \mathbb{N}$ and $x \in \mathbb{R}$

$$
\begin{equation*}
\left|j_{\mu}^{(n)}(x)\right| \leqslant 1 \tag{2.2}
\end{equation*}
$$

- The function $j_{\mu}$ satisfies the product formula $[10,22]$, for all $r, s \in[0,+\infty[$

$$
j_{\mu}(r) j_{\mu}(s)= \begin{cases}\frac{\Gamma(\mu+1)}{\Gamma(\mu+1 / 2) \Gamma(1 / 2)} \int_{0}^{\pi} j_{\mu}\left(\sqrt{r^{2}+s^{2}+2 r s \cos \theta}\right)(\sin \theta)^{2 \mu} d \theta, & \text { if } \mu>-1 / 2 \\ \frac{j_{-1 / 2}(r+s)+j_{-1 / 2}(r-s)}{2}, & \text { if } \mu=-1 / 2\end{cases}
$$

Using the product formula, we will define and study the Hankel translation operator and the convolution product.

Definition 2.1 1) For all $r \in\left[0,+\infty\left[\right.\right.$, the Hankel translation operator $\tau_{r}^{\mu}$ is defined on $L^{p}\left(d \gamma_{\mu}\right)$ by

$$
\tau_{r}^{\mu}(f)(s)= \begin{cases}\frac{\Gamma(\mu+1)}{\Gamma(\mu+1 / 2) \Gamma(1 / 2)} \int_{0}^{\pi} f\left(\sqrt{r^{2}+s^{2}+2 r s \cos \theta}\right)(\sin \theta)^{2 \mu} d \theta, & \text { if } \mu>-1 / 2 \\ \frac{f(r+s)+f(|r-s|)}{2}, & \text { if } \mu=-1 / 2\end{cases}
$$

2) The convolution product of $f, g \in L^{1}\left(d \gamma_{\mu}\right)$ is defined by

$$
f *_{\mu} g(r)=\int_{0}^{+\infty} \tau_{r}^{\mu}(f)(s) g(s) d \gamma_{\mu}(s)
$$

The following assumptions hold

- The product formula can be written

$$
\forall(r, s) \in\left[0,+\infty\left[\times\left[0,+\infty\left[, \quad \tau_{r}^{\mu}\left(j_{\mu}(\lambda .)\right)(s)=j_{\mu}(\lambda r) j_{\mu}(\lambda s)\right.\right.\right.\right.
$$

- For all $f \in L^{p}\left(d \gamma_{\mu}\right), p \in[1,+\infty]$, and for all $r \in\left[0,+\infty\left[\right.\right.$ the function $\tau_{r}^{\mu}(f)$ belongs to the space $L^{p}\left(d \gamma_{\mu}\right)$ and

$$
\begin{equation*}
\left\|\tau_{r}^{\mu}(f)\right\|_{p, \mu} \leqslant\|f\|_{p, \mu} \tag{2.3}
\end{equation*}
$$

- Let $p, q, r \in[1,+\infty]$ be such that $1 / p+1 / q=1+1 / r$. For all $f \in L^{p}\left(d \gamma_{\mu}\right)$ and $g \in L^{q}\left(d \gamma_{\mu}\right)$, the function $f *_{\mu} g$ belongs to $L^{r}\left(d \gamma_{\mu}\right)$ and we have the following Young inequality

$$
\begin{equation*}
\left\|f *_{\mu} g\right\|_{r, \mu} \leqslant\|f\|_{p, \mu}\|g\|_{q, \mu} \tag{2.4}
\end{equation*}
$$

- For all $f \in L^{1}\left(d \gamma_{\mu}\right)$ and $\lambda \in\left[0,+\infty\left[\right.\right.$, the function $\tau_{\lambda}^{\mu}(f)$ belongs to $L^{1}\left(d \gamma_{\mu}\right)$ and we have

$$
\begin{equation*}
\int_{0}^{+\infty} \tau_{\lambda}^{\mu}(f)(r) d \gamma_{\mu}(r)=\int_{0}^{+\infty} f(r) d \gamma_{\mu}(r) \tag{2.5}
\end{equation*}
$$

Definition 2.2 The Hankel transform $\mathcal{H}_{\mu}$ is defined on $L^{1}\left(d \gamma_{\mu}\right)$ by [17]

$$
\mathcal{H}_{\mu}(f)(\lambda)=\int_{0}^{+\infty} f(r) j_{\mu}(r \lambda) d \gamma_{\mu}(r), \quad \lambda \in \mathbb{R}
$$

where $j_{\mu}$ is the modified Bessel function defined by the relation (2.1).
The Hankel transform satisfies the following properties

- For all $f \in L^{1}\left(d \gamma_{\mu}\right)$ the function $H_{\mu}(f)$ belongs to the space $\mathcal{C}_{*, 0}(\mathbb{R})$ and

$$
\left\|H_{\mu}(f)\right\|_{\infty, \mu} \leqslant\|f\|_{1, \mu}
$$

- For all $f \in L^{1}\left(d \gamma_{\mu}\right)$ and $r \in[0, \infty[$

$$
\begin{equation*}
\mathcal{H}_{\mu}\left(\tau_{r}^{\mu}(f)\right)(\lambda)=j_{\mu}(r \lambda) \mathcal{H}_{\mu}(f)(\lambda) \tag{2.6}
\end{equation*}
$$

- For $f, g \in L^{1}\left(d \gamma_{\mu}\right)$

$$
\mathcal{H}_{\mu}\left(f *_{\mu} g\right)=\mathcal{H}_{\mu}(f) \mathcal{H}_{\mu}(g)
$$

Theorem 2.3 (Inversion formula for $\mathcal{H}_{\mu}$ ) Let $f \in L^{1}\left(d \gamma_{\mu}\right)$ such that $\mathcal{H}_{\mu}(f) \in$ $L^{1}\left(d \gamma_{\mu}\right)$, then for almost every $r \in[0,+\infty[$, we have

$$
f(r)=\int_{0}^{+\infty} \mathcal{H}_{\mu}(f)(\lambda) j_{\mu}(\lambda r) d \gamma_{\mu}(\lambda)
$$

Theorem 2.4 (Plancherel theorem) The Hankel transform $\mathcal{H}_{\mu}$ can be extended to an isometric isomorphism from $L^{2}\left(d \gamma_{\mu}\right)$ onto itself. In particular for all $f, g \in L^{2}\left(d \gamma_{\mu}\right)$, we have (Parseval equality)

$$
\int_{0}^{+\infty} f(r) \overline{g(r)} d \gamma_{\mu}(r)=\int_{0}^{+\infty} \mathcal{H}_{\mu}(f)(\lambda) \overline{\mathcal{H}_{\mu}(g)(\lambda)} d \gamma_{\mu}(\lambda) .
$$

Remark 2.5 i) Let $f \in L^{1}\left(d \gamma_{\mu}\right)$ and $g \in L^{2}\left(d \gamma_{\mu}\right)$, by the relation (2.4), the function $f *_{\mu} g$ belongs to $L^{2}\left(d \gamma_{\mu}\right)$, moreover

$$
\mathcal{H}_{\mu}\left(f *_{\mu} g\right)=\mathcal{H}_{\mu}(f) \mathcal{H}_{\mu}(g)
$$

ii) For all $f, g \in L^{2}\left(d \gamma_{\mu}\right)$ the function $f *_{\mu} g$ belongs to the space $\mathcal{C}_{*, 0}(\mathbb{R})$ and we have

$$
\begin{equation*}
f *_{\mu} g=\mathcal{H}_{\mu}\left(\mathcal{H}_{\mu}(f) \mathcal{H}_{\mu}(g)\right) . \tag{2.7}
\end{equation*}
$$

## 3 Weierstrass transform associated with the Hankel operator

In this section, we will define and study the Weierstrass transform associated with $\mathcal{H}_{\mu}$. For this we define some Hilbert spaces and we exhibit their reproducing kernels.

Let $\nu$ be a real number, $\nu>\mu+1$. We denote by

- $\mathbf{H}_{\nu}^{\mu}\left(\left[0,+\infty[)\right.\right.$ the subspace of $L^{2}\left(d \gamma_{\mu}\right)$ formed by the functions $f$, such that the maps

$$
\lambda \longmapsto\left(1+\lambda^{2}\right)^{\nu / 2} \mathcal{H}_{\mu}(f)(\lambda),
$$

belongs to $L^{2}\left(d \gamma_{\mu}\right)$.

- $\langle. \mid .\rangle_{\nu}$ the inner product on $\mathbf{H}_{\nu}^{\mu}([0,+\infty[)$ defined by

$$
\langle f \mid g\rangle_{\nu}=\int_{0}^{+\infty}\left(1+\lambda^{2}\right)^{\nu} \mathcal{H}_{\mu}(f)(\lambda) \overline{\mathcal{H}_{\mu}(g)(\lambda)} d \gamma_{\mu}(\lambda)
$$

- $\|.\|_{\nu}$ the norm of $\mathbf{H}_{\nu}^{\mu}([0,+\infty[)$ defined by

$$
\|f\|_{\nu}=\sqrt{\langle f \mid f\rangle_{\nu}}
$$

Remark 3.1 For $\nu>\mu+1$, the function

$$
\lambda \longmapsto \frac{1}{\left(1+\lambda^{2}\right)^{\nu / 2}},
$$

belongs to $L^{2}\left(d \gamma_{\mu}\right)$. Hence for all $f \in \mathbf{H}_{\nu}^{\mu}\left(\left[0,+\infty[)\right.\right.$, the function $\mathcal{H}_{\mu}(f)$ belongs to $L^{1}\left(d \gamma_{\mu}\right)$, then by inversion formula 2.3, we have for almost every $r \in[0,+\infty[$

$$
f(r)=\int_{0}^{+\infty} \mathcal{H}_{\mu}(\lambda) j_{\mu}(\lambda r) d \gamma_{\mu}(\lambda)
$$

Proposition 3.2 For $\nu>\mu+1$ the function $\mathcal{K}_{\nu}$ defined on $[0,+\infty[\times[0,+\infty[$ by

$$
\mathcal{K}_{\nu}(r, s)=\int_{0}^{+\infty} \frac{j_{\mu}(\lambda r) j_{\mu}(\lambda s)}{\left(1+\lambda^{2}\right)^{\nu}} d \gamma_{\mu}(\lambda)
$$

is a reproducing kernel of the space $\mathbf{H}_{\nu}^{\mu}([0,+\infty[)$, that is
i) For all $s \in[0,+\infty[$, the function

$$
r \longmapsto \mathcal{K}_{\nu}(r, s),
$$

belongs to $\mathbf{H}_{\nu}^{\mu}([0,+\infty[)$.
ii) (The reproducing property) For all $f \in \mathbf{H}_{\nu}^{\mu}([0,+\infty[)$ and $s \in[0,+\infty[$,

$$
\left\langle f \mid \mathcal{K}_{\nu}(., s)\right\rangle_{\nu}=f(s) .
$$

Proof. i) From Remark 3.1 and the relation (2.2), we deduce that for all $s \in[0,+\infty[$, the function

$$
\lambda \longmapsto \frac{j_{\mu}(\lambda s)}{\left(1+\lambda^{2}\right)^{\nu}},
$$

belongs to $L^{1}\left(d \gamma_{\mu}\right) \cap L^{2}\left(d \gamma_{\mu}\right)$. Then, the function $\mathcal{K}_{\nu}$ is well defined and by Theorem 2.3, we have

$$
\mathcal{K}_{\nu}(r, s)=\mathcal{H}_{\mu}\left(\frac{j_{\mu}(\lambda s)}{\left(1+\lambda^{2}\right)^{\nu}}\right)(r)
$$

By Plancherel theorem, it follows that for all $s \in\left[0,+\infty\left[\right.\right.$, the function $\mathcal{K}_{\nu}(., s)$ belongs to $L^{2}\left(d \gamma_{\mu}\right)$, and we have

$$
\begin{equation*}
\mathcal{H}_{\mu}\left(\mathcal{K}_{\nu}(., s)\right)(\lambda)=\frac{j_{\mu}(\lambda s)}{\left(1+\lambda^{2}\right)^{\nu}} \tag{3.8}
\end{equation*}
$$

Again, by the relation (2.2) and Remark 3.1, it follows that the function

$$
\lambda \longmapsto\left(1+\lambda^{2}\right)^{\nu / 2} \mathcal{H}_{\mu}\left(\mathcal{K}_{\nu}(., s)\right)(\lambda),
$$

belongs to $L^{2}\left(d \gamma_{\mu}\right)$.
ii) Let $f$ be in $\mathbf{H}_{\nu}^{\mu}([0,+\infty[)$. For every $s \in[0,+\infty[$, we have

$$
\left\langle f \mid \mathcal{K}_{\nu}(., s)\right\rangle_{\nu}=\int_{0}^{+\infty}\left(1+\lambda^{2}\right)^{\nu} \mathcal{H}_{\mu}(f)(\lambda) \overline{\mathcal{H}_{\mu}\left(\mathcal{K}_{\nu}(., s)\right)(\lambda)} d \gamma_{\mu}(\lambda)
$$

and by the relation (3.8), we get

$$
\left\langle f \mid \mathcal{K}_{\nu}(., s)\right\rangle_{\nu}=\int_{0}^{+\infty} \mathcal{H}_{\mu}(f)(\lambda) j_{\mu}(\lambda s) d \gamma_{\mu}(\lambda) .
$$

The result follows from Remark 3.1.

The heat equation associated with the Hankel transform is given by

$$
\begin{equation*}
\ell_{\mu} u(r, t)=\frac{\partial}{\partial t} u(r, t) \tag{3.9}
\end{equation*}
$$

where $\ell_{\mu}$ is the Bessel operator defined above.
Let $E$ be the kernel defined by

$$
\begin{align*}
E(r, t) & =\int_{0}^{+\infty} e^{-t \lambda^{2}} j_{\mu}(r \lambda) d \gamma_{\mu}(\lambda)  \tag{3.10}\\
& =\frac{e^{-r^{2} / 4 t}}{(2 t)^{\mu+1}}
\end{align*}
$$

Then, the kernel $E$ solves the equation (3.9).

Definition 3.3 The heat kernel associated with the Hankel transform is defined by

$$
\begin{align*}
& \mathcal{E}_{t}(r, s)=\tau_{r}^{\mu}(E(., t))(s)  \tag{3.11}\\
& \quad=\frac{e^{-\left(r^{2}+s^{2}\right) / 4 t}}{(2 t)^{\mu+1}} j_{\mu}\left(\frac{i r s}{2 t}\right)
\end{align*}
$$

Then, we have the following properties
i) For all $t>0, \mathcal{E}_{t} \geqslant 0$.
ii) From the relations $(2.3),(2.6),(3.10)$ and (3.11), for all $t>0, r \in[0,+\infty[$, the function $\mathcal{E}_{t}(r,$.$) belongs to L^{1}\left(d \gamma_{\mu}\right)$ and for all $\lambda \in[0,+\infty[$, we have

$$
\mathcal{H}_{\mu}\left(\mathcal{E}_{t}(r, .)\right)(\lambda)=e^{-t \lambda^{2}} j_{\mu}(\lambda r)
$$

iii) From the relations (2.3), (2.5), (3.10) and (3.11), for all $t>0$ and $s \in\left[0,+\infty\left[\right.\right.$, the function $\mathcal{E}_{t}(., s)$ belongs to $L^{1}\left(d \gamma_{\mu}\right)$ and we have

$$
\int_{0}^{+\infty} \mathcal{E}_{t}(r, s) d \gamma_{\mu}(r)=\int_{0}^{+\infty} E(r, t) d \gamma_{\mu}(r)=1
$$

iv) For all $s \in[0,+\infty[$, the function

$$
(r, t) \longmapsto \mathcal{E}_{t}(r, s),
$$

solves the heat equation (3.9).
In the following, we shall define the Weierstrass transform associated with the Hankel transform and we establish some properties that we use later.

Definition 3.4 The Weierstrass transform associated with the Hankel transform is defined on $L^{2}\left(d \gamma_{\mu}\right)$, by

$$
\begin{align*}
\mathcal{W}_{\mu, t}(f)(r) & =\left(E(., t) *_{\mu} f\right)(r)  \tag{3.12}\\
& =\int_{0}^{+\infty} \mathcal{E}_{t}(r, s) f(s) d \gamma_{\mu}(s)
\end{align*}
$$

For the classical Weierstrass transform, one can see [11, 15, 16].
Proposition 3.5 i) For all $f \in L^{2}\left(d \gamma_{\mu}\right)$, the function $\mathcal{W}_{\mu, t}(f)$ solves the heat equation (3.9), with the initial condition

$$
\lim _{t \rightarrow 0^{+}} \mathcal{W}_{\mu, t}(f)=f, \quad \text { in } L^{2}\left(d \gamma_{\mu}\right)
$$

ii) For all $t>0$ and $\nu>\mu+1$, the transform $\mathcal{W}_{\mu, t}$ is a bounded linear operator from $\mathbf{H}_{\nu}^{\mu}\left(\left[0,+\infty[)\right.\right.$ into $L^{2}\left(d \gamma_{\mu}\right)$ and for all $f \in \mathbf{H}_{\nu}^{\mu}([0,+\infty[)$ we have

$$
\left\|\mathcal{W}_{\mu, t}(f)\right\|_{2, \mu} \leqslant\|f\|_{\nu}
$$

Proof. i) From the relations (3.11), (3.12), the derivative's theorem and the fact that for all $s \in\left[0,+\infty\left[\right.\right.$, the function $(r, t) \longmapsto \mathcal{E}_{t}(r, s)$ solves the heat equation (3.9), we deduce that the function $\mathcal{W}_{\mu, t}(f)$ is a solution of (3.9).

The family $(E(., t))_{t>0}$ is an approximate identity, in particular for all $f \in$ $L^{2}\left(d \gamma_{\mu}\right)$

$$
\lim _{t \rightarrow 0} E(., t) *_{\mu} f=f \quad \text { in } \quad L^{2}\left(d \gamma_{\mu}\right)
$$

ii) From the relations (2.4) and (3.12), for all $f \in L^{2}\left(d \gamma_{\mu}\right)$, we have

$$
\begin{aligned}
\left\|\mathcal{W}_{\mu, t}(f)\right\|_{2, \mu} & =\left\|E(., t) *_{\mu} f\right\|_{2, \mu} \\
& \leqslant\|E(., t)\|_{1, \mu}\|f\|_{2, \mu} \\
& =\|f\|_{2, \mu}=\left\|\mathcal{H}_{\mu}(f)\right\|_{2, \mu} \leqslant\|f\|_{\nu}
\end{aligned}
$$

Notations. For all positive real numbers $\xi, t$ and for $\nu>\mu+1$, we denote by

- $\langle. \mid .\rangle_{\nu, \xi}$, the inner product defined on the space $\mathbf{H}_{\nu}^{\mu}([0,+\infty[)$ by

$$
\langle f \mid g\rangle_{\nu, \xi}=\xi\langle f \mid g\rangle_{\nu}+\left\langle\mathcal{W}_{\mu, t}(f) \mid \mathcal{W}_{\mu, t}(g)\right\rangle_{\mu} .
$$

- $\mathbf{H}_{\nu, \xi}^{\mu}\left(\left[0,+\infty[)\right.\right.$, the space $\mathbf{H}_{\nu}^{\mu}([0,+\infty[)$ equipped with the inner product $\langle. \mid .\rangle_{\nu, \xi}$ and the norm

$$
\|f\|_{\nu, \xi}^{2}=\xi\|f\|_{\nu}^{2}+\left\|\mathcal{W}_{\mu, t}(f)\right\|_{2, \mu}^{2}
$$

Then, we have the following main result $[11,15]$.

Theorem 3.6 For all $\xi, t>0$ and $\nu>\mu+1$, the Hilbert space $\mathbf{H}_{\nu, \xi}^{\mu}([0,+\infty[)$ admits the following reproducing kernel,

$$
\mathcal{K}_{\nu, \xi}(r, s)=\int_{0}^{+\infty} \frac{j_{\mu}(r \lambda) j_{\mu}(s \lambda)}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}} d \gamma_{\mu}(\lambda)
$$

that is
i) For all $s \in\left[0,+\infty\left[\right.\right.$, the function $r \longmapsto \mathcal{K}_{\nu, \xi}(r, s)$ belongs to $\mathbf{H}_{\nu, \xi}^{\mu}([0,+\infty[)$.
ii) (The reproducing property.) For all $f \in \mathbf{H}_{\nu, \xi}^{\mu}([0,+\infty[)$ and $s \in[0,+\infty[$,

$$
\left\langle f \mid \mathcal{K}_{\nu, \xi}(., s)\right\rangle_{\nu, \xi}=f(s)
$$

Proof. i) Let $s \in[0,+\infty[$. From the inequality (2.2), we have

$$
\frac{\left|j_{\mu}(\lambda s)\right|}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}} \leqslant \frac{1}{\xi\left(1+\lambda^{2}\right)^{\nu}}
$$

Then by the hypothesis $\nu>\mu+1$, we deduce that for all $s \in[0,+\infty[$, the function

$$
\lambda \longmapsto \frac{j_{\mu}(\lambda s)}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}}
$$

belongs to $L^{1}\left(d \gamma_{\mu}\right) \cap L^{2}\left(d \gamma_{\mu}\right)$, and by the Plancherel theorem, the function

$$
\begin{equation*}
r \longmapsto \mathcal{K}_{\nu, \xi}(r, s)=\mathcal{H}_{\mu}\left(\frac{j_{\mu}(\lambda s)}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}}\right)(r) \tag{3.13}
\end{equation*}
$$

belongs to $L^{2}\left(d \gamma_{\mu}\right)$, moreover the function

$$
\lambda \longmapsto\left(1+\lambda^{2}\right)^{\nu / 2} \mathcal{H}_{\mu}\left(\mathcal{K}_{\nu, \xi}(., s)\right)(\lambda)=\frac{\left(1+\lambda^{2}\right)^{\nu / 2} j_{\mu}(\lambda s)}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}},
$$

belongs to $L^{2}\left(d \gamma_{\mu}\right)$.
This proves that for all $s \in\left[0,+\infty\left[\right.\right.$, the function $\mathcal{K}_{\nu, \xi}(., s)$ belongs to the space $\mathbf{H}_{\nu, \xi}^{\mu}([0,+\infty[)$.
ii) Let $f$ be in $\mathbf{H}_{\nu, \xi}^{\mu}([0,+\infty[)$. By the relation (3.13), we get

$$
\begin{equation*}
\left\langle f \mid \mathcal{K}_{\nu, \xi}(., s)\right\rangle_{\nu}=\int_{0}^{+\infty}\left(1+\lambda^{2}\right)^{\nu} \mathcal{H}_{\mu}(f)(\lambda) \times\left(\overline{\frac{j_{\mu}(\lambda s)}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}}}\right) d \gamma_{\mu}(\lambda) \tag{3.14}
\end{equation*}
$$

On the other hand, we have

$$
\mathcal{W}_{\mu, t}\left(\mathcal{K}_{\nu, \xi}(., s)\right)(r)=\left(E(., t) *_{\mu} \mathcal{K}_{\nu, \xi}(., s)\right)(r)
$$

and by the relations $(2.7),(3.10)$ and (3.13), we get

$$
\begin{equation*}
\mathcal{W}_{\mu, t}\left(\mathcal{K}_{\nu, \xi}(., s)\right)(r)=\mathcal{H}_{\mu}\left(\frac{j_{\mu}(\lambda s) e^{-t \lambda^{2}}}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}}\right)(r) \tag{3.15}
\end{equation*}
$$

By the same way

$$
\begin{equation*}
\mathcal{W}_{\mu, t}(f)(r)=\mathcal{H}_{\mu}\left(e^{-t \lambda^{2}} \mathcal{H}_{\mu}(f)\right)(r) . \tag{3.16}
\end{equation*}
$$

Thus,

$$
\left\langle\mathcal{W}_{\mu, t}(f) \mid \mathcal{W}_{\mu, t}\left(\mathcal{K}_{\nu, \xi}(., s)\right)\right\rangle_{\mu}=\left\langle\mathcal{H}_{\mu}\left(e^{-t \lambda^{2}} \mathcal{H}_{\mu}(f)\right) \left\lvert\, \mathcal{H}_{\mu}\left(\frac{j_{\mu}(\lambda s) e^{-t \lambda^{2}}}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}}\right)\right.\right\rangle_{\mu} .
$$

Using the Parseval formula, we get

$$
\begin{equation*}
\left\langle\mathcal{W}_{\mu, t}(f) \mid \mathcal{W}_{\mu, t}\left(\mathcal{K}_{\nu, \xi}(., s)\right)\right\rangle_{\mu}=\left\langle e^{-t \lambda^{2}} \mathcal{H}_{\mu}(f) \left\lvert\, \frac{j_{\mu}(\lambda s) e^{-t \lambda^{2}}}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}}\right.\right\rangle_{\mu} \tag{3.17}
\end{equation*}
$$

Combining the relations (3.14) and (3.17), we obtain

$$
\left\langle f \mid \mathcal{K}_{\nu, \xi}(., s)\right\rangle_{\nu, \xi}=\int_{0}^{+\infty} \mathcal{H}_{\mu}(f)(\lambda) j_{\mu}(\lambda s) d \gamma_{\mu}(\lambda)
$$

The desired result arises from Remark 3.1.

## 4 The Extremal Function

This section contains the main result of this paper, that is the existence and unicity of the extremal function related to the generalized Weierstrass transform studied in the previous section.

Theorem 4.1 Let $\nu>\mu+1, \quad \xi>0$ and $g \in L^{2}\left(d \gamma_{\mu}\right)$. Then there is a unique function $f_{\xi, g}^{*} \in \mathbf{H}_{\nu}^{\mu}([0,+\infty[)$, where the infimum of

$$
\left\{\xi\|f\|_{\nu}^{2}+\left\|g-\mathcal{W}_{\mu, t}(f)\right\|_{2, \mu}^{2}, \quad f \in \mathbf{H}_{\nu}^{\mu}([0,+\infty[)\}\right.
$$

is attained. Moreover, the extremal function $f_{\xi, g}^{*}$ is given by

$$
\begin{equation*}
f_{\xi, g}^{*}(r)=\int_{0}^{+\infty} g(s) \mathbf{Q}_{\xi}(r, s) d \gamma_{\mu}(s), \tag{4.18}
\end{equation*}
$$

where,

Proof. The existence and unicity of the extremal function $f_{\xi, g}^{*}$ is given by [11, 15, 16]. On the other hand, we have

$$
f_{\xi, g}^{*}(s)=\left\langle g \mid \mathcal{W}_{\mu, t}\left(\mathcal{K}_{\nu, \xi}(., s)\right)\right\rangle_{\mu}
$$

and by (3.15), we obtain

$$
\begin{aligned}
& f_{\xi, g}^{*}(s)=\left\langle g \left\lvert\, \mathcal{H}_{\mu}\left(\frac{j_{\mu}(\lambda s) e^{-t \lambda^{2}}}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}}\right)\right.\right\rangle_{\mu} \\
& =\int_{0}^{+\infty} g(r)\left(\int_{0}^{+\infty} \frac{e^{-t \lambda^{2}} j_{\mu}(\lambda r) j_{\mu}(\lambda s)}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}} d \gamma_{\mu}(\lambda)\right) d \gamma_{\mu}(r) \\
& =\int_{0}^{+\infty} g(r) \mathbf{Q}_{\xi}(r, s) d \gamma_{\mu}(r)
\end{aligned}
$$

Corollary 4.2 Let $\nu>\mu+1, \quad \xi>0$ and $g \in L^{2}\left(d \gamma_{\mu}\right)$. The extremal function $f_{\xi, g}^{*}$, satisfies the following inequality

$$
\left\|f_{\xi, g}^{*}\right\|_{2, \mu}^{2} \leqslant \frac{\Gamma(\nu-\mu-1)}{\xi 2^{2 \mu+4} \Gamma(\nu)} \int_{0}^{+\infty} e^{r^{2}}|g(r)|^{2} d \gamma_{\mu}(r)
$$

Proof. We have

$$
f_{\xi, g}^{*}(s)=\int_{0}^{+\infty} e^{-\frac{r^{2}}{2}} e^{\frac{r^{2}}{2}} g(r) \mathbf{Q}_{\xi}(r, s) d \gamma_{\mu}(r)
$$

By Hölder's inequality we get

$$
\left|f_{\xi, g}^{*}(s)\right|^{2} \leqslant\left(\int_{0}^{+\infty} e^{-r^{2}} d \gamma_{\mu}(r)\right)\left(\int_{0}^{+\infty} e^{r^{2}}|g(r)|^{2}\left|\mathbf{Q}_{\xi}(r, s)\right|^{2} d \gamma_{\mu}(r)\right)
$$

Integrating over $\left[0,+\infty\left[\right.\right.$ with respect to the measure $d \gamma_{\mu}(s)$, we obtain

$$
\left\|f_{\xi, g}^{*}\right\|_{2, \mu}^{2} \leqslant\left(\int_{0}^{+\infty} e^{-r^{2}} d \gamma_{\mu}(r)\right)\left(\int_{0}^{+\infty} e^{r^{2}}|g(r)|^{2}\left\|\mathbf{Q}_{\xi}(r, .)\right\|_{2, \mu}^{2} d \gamma_{\mu}(r)\right)
$$

However, by the relation (4.19)

$$
\begin{equation*}
\mathbf{Q}_{\xi}(r, s)=\mathcal{H}_{\mu}\left(\frac{e^{-t \lambda^{2}} j_{\mu}(\lambda r)}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}}\right)(s), \tag{4.20}
\end{equation*}
$$

then by the Plancherel theorem

$$
\left\|\mathbf{Q}_{\xi}(r, .)\right\|_{2, \mu}^{2}=\int_{0}^{+\infty} \frac{e^{-2 t \lambda^{2}}\left|j_{\mu}(\lambda r)\right|^{2}}{\left|\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}\right|^{2}} d \gamma_{\mu}(\lambda)
$$

Since, $a^{2}+b^{2} \geqslant 2 a b, \quad a, b \geqslant 0$, and in virtue of the relation (2.2), it follows that

$$
\begin{equation*}
\left\|\mathbf{Q}_{\xi}(r, .)\right\|_{2, \mu}^{2} \leqslant \frac{1}{4 \xi} \int_{0}^{+\infty} \frac{d \gamma_{\mu}(\lambda)}{\left(1+\lambda^{2}\right)^{\nu}} \tag{4.21}
\end{equation*}
$$

We complete the proof by using the relations (4.20) and (4.21), and the fact that

$$
\int_{0}^{+\infty} e^{-r^{2}} d \gamma_{\mu}(r)=\frac{1}{2^{\mu+1}}
$$

and

$$
\int_{0}^{+\infty} \frac{d \gamma_{\mu}(\lambda)}{\left(1+\lambda^{2}\right)^{\nu}}=\frac{\Gamma(\nu-\mu-1)}{2^{\mu+1} \Gamma(\nu)}
$$

Corollary 4.3 Let $\nu>\mu+1$. For all $g_{1}, g_{2} \in L^{2}\left(d \gamma_{\mu}\right)$, we have

$$
\left\|f_{\xi, g_{1}}^{*}-f_{\xi, g_{2}}^{*}\right\|_{\nu} \leqslant \frac{\left\|g_{1}-g_{2}\right\|_{2, \mu}}{2 \sqrt{\xi}}
$$

Proof. Let $\nu>\mu+1$. For all $r \in[0,+\infty[$, the function

$$
\lambda \longmapsto \frac{e^{-t \lambda^{2}}}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}} j_{\mu}(\lambda r),
$$

belongs to $L^{1}\left(d \gamma_{\mu}\right) \cap L^{2}\left(d \gamma_{\mu}\right)$.
From the relation (4.18) and the fact that

$$
\mathbf{Q}_{\xi}(r, s)=\mathcal{H}_{\mu}\left(\frac{e^{-t \lambda^{2}} j_{\mu}(\lambda s)}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}}\right)(r),
$$

we deduce that for all $g \in L^{2}\left(d \gamma_{\mu}\right)$ and $s \in[0,+\infty[$, we have

$$
f_{\xi, g}^{*}(s)=\int_{0}^{+\infty} g(r) \mathcal{H}_{\mu}\left(\frac{e^{-t \lambda^{2}} j_{\mu}(\lambda s)}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}}\right)(r) d \gamma_{\mu}(r)
$$

Applying Parseval's equality, we get

$$
\begin{aligned}
f_{\xi, g}^{*}(s) & =\int_{0}^{+\infty} \mathcal{H}_{\mu}(g)(\lambda) \frac{e^{-t \lambda^{2}} j_{\mu}(\lambda s)}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}} d \gamma_{\mu}(\lambda) \\
& =\mathcal{H}_{\mu}\left(\mathcal{H}_{\mu}(g) \frac{e^{-t \lambda^{2}}}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}}\right)(s)
\end{aligned}
$$

which implies that

$$
\begin{equation*}
\mathcal{H}_{\mu}\left(f_{\xi, g}^{*}\right)(\lambda)=\mathcal{H}_{\mu}(g)(\lambda) \frac{e^{-t \lambda^{2}}}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}} \tag{4.22}
\end{equation*}
$$

then for all $g_{1}, g_{2} \in L^{2}\left(d \gamma_{\mu}\right)$,

$$
\left\|f_{\xi, g_{1}}^{*}-f_{\xi, g_{2}}^{*}\right\|_{\nu}^{2}=\int_{0}^{+\infty} \frac{\left(1+\lambda^{2}\right)^{\nu} e^{-2 t \lambda^{2}}\left|\mathcal{H}_{\mu}\left(g_{1}-g_{2}\right)(\lambda)\right|^{2}}{\left(\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}\right)^{2}} d \gamma_{\mu}(\lambda)
$$

Applying again the fact that $a^{2}+b^{2} \geqslant 2 a b, a, b \geqslant 0$, we obtain

$$
\begin{aligned}
\left\|f_{\xi, g_{1}}^{*}-f_{\xi, g_{2}}^{*}\right\|_{\nu}^{2} & \leqslant \frac{1}{4 \xi} \int_{0}^{+\infty}\left|\mathcal{H}_{\mu}\left(g_{1}-g_{2}\right)(\lambda)\right|^{2} d \gamma_{\mu}(\lambda) \\
& =\frac{1}{4 \xi}\left\|g_{1}-g_{2}\right\|_{2, \mu}^{2} .
\end{aligned}
$$

Corollary 4.4 Let $\nu>\mu+1$. For every $f \in \mathbf{H}_{\nu}^{\mu}\left(\left[0,+\infty[)\right.\right.$ and $g=\mathcal{W}_{\mu, t}(f)$, we have

$$
\lim _{\xi \rightarrow 0^{+}}\left\|f_{\xi, g}^{*}-f\right\|_{\nu}=0
$$

Moreover, $\left(f_{\xi, g}^{*}\right)_{\xi>0}$ converges uniformly to $f$ as $\xi \rightarrow 0^{+}$.
Proof. Let $f \in \mathbf{H}_{\nu}^{\mu}\left(\left[0,+\infty[)\right.\right.$ and $g=\mathcal{W}_{\mu, t}(f)$. From Proposition 3.5, the function $g$ belongs to $L^{2}\left(d \gamma_{\mu}\right)$. Applying the relations (3.16) and (4.22), we obtain

$$
\begin{equation*}
\mathcal{H}_{\mu}\left(f_{\xi, g}^{*}-f\right)(\lambda)=\frac{-\xi\left(1+\lambda^{2}\right)^{\nu} \mathcal{H}_{\mu}(f)(\lambda)}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}} \tag{4.23}
\end{equation*}
$$

Consequently,

$$
\left\|f_{\xi, g}^{*}-f\right\|_{\nu}^{2}=\int_{0}^{+\infty} \frac{\xi^{2}\left(1+\lambda^{2}\right)^{2 \nu}}{\left(\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}\right)^{2}}\left(1+\lambda^{2}\right)^{\nu}\left|\mathcal{H}_{\mu}(f)(\lambda)\right|^{2} d \gamma_{\mu}(\lambda)
$$

Using the dominated convergence theorem and the fact that

$$
\frac{\xi^{2}\left(1+\lambda^{2}\right)^{3 \nu}\left|\mathcal{H}_{\mu}(f)(\lambda)\right|^{2}}{\left(\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}\right)^{2}} \leqslant\left(1+\lambda^{2}\right)^{\nu}\left|\mathcal{H}_{\mu}(f)(\lambda)\right|^{2}
$$

and $f \in \mathbf{H}_{\nu}^{\mu}([0,+\infty[)$, we deduce that

$$
\lim _{\xi \rightarrow 0^{+}}\left\|f_{\xi, g}^{*}-f\right\|_{\nu}=0
$$

From Remark 3.1, the function $\mathcal{H}_{\mu}(f)$ belongs to $L^{1}\left(d \gamma_{\mu}\right) \cap L^{2}\left(d \gamma_{\mu}\right)$, then by inversion formula and the relation (4.23), we get

$$
\left(f_{\xi, g}^{*}-f\right)(r)=\int_{0}^{+\infty} \frac{-\xi\left(1+\lambda^{2}\right)^{\nu} \mathcal{H}_{\mu}(f)(\lambda)}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}} j_{\mu}(\lambda r) d \gamma_{\mu}(\lambda)
$$

So, for all $r \in[0,+\infty[$,

$$
\left|\left(f_{\xi, g}^{*}-f\right)(r)\right| \leqslant \int_{0}^{+\infty} \frac{\xi\left(1+\lambda^{2}\right)^{\nu}\left|\mathcal{H}_{\mu}(f)(\lambda)\right|}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}} d \gamma_{\mu}(\lambda)
$$

Again, by dominated convergence theorem and the fact that

$$
\frac{\xi\left(1+\lambda^{2}\right)^{\nu}\left|\mathcal{H}_{\mu}(f)(\lambda)\right|}{\xi\left(1+\lambda^{2}\right)^{\nu}+e^{-2 t \lambda^{2}}} \leqslant\left|\mathcal{H}_{\mu}(f)(\lambda)\right|
$$

we deduce that

$$
\sup _{r \in[0,+\infty[ }\left|\left(f_{\xi, g}^{*}-f\right)(r)\right| \longrightarrow 0 \text {, as } \xi \longrightarrow 0^{+}
$$

## References

[1] G. Andrews, R. Askey and R. Roy, Special Functions, Cambridge University Press, New-York 1999.
[2] N. Aronszajn, Theory of reproducing kernels. Trans. Amer. Math. Soc. 68, (1948), 337-404.
[3] A. Erdely and all, Higher transcendental functions, Vol.I, Mc Graw-Hill Book Compagny, New-York 1953.
[4] A. Erdely and all, Tables of integral transforms, Vol.II, Mc Graw-Hill Book Compagny, New-York 1954.
[5] H. Fujiwara, T. Matsuura and S. Saitoh, Numerical real inversion formulas of the Laplace transform. Announcement.
[6] D. T. Haimo, Integral equations associated with Hankel convolutions, Trans. Amer. Math. Soc. 116, (1965), 330-375.
[7] M. Herberthson, A numerical implementation of an inverse formula for CARABAS raw data. Internal Report D 30430-3.2, National Defense Research Institute, Linköping, Sweden 1986.
[8] C. S. Herz, On the mean inversion of Fourier and Hankel transforms, Proc. Nat. Acad. Sci. USA, 40, (1954), 996-999.
[9] I. I. Hirschman, Variation diminishing Hankel transform, J. Anal. Math. 8, (1960/61), 177-193.
[10] N. N. Lebedev, Special functions and their applications. Dover publications, Inc. New-York 1972.
[11] T. Matsuura, S. Saitoh and D. D. Trong, Inversion formulas in heat conduction multidimensional spaces, J. Inverse Ill-Posed Probl. 13, (2005), 479-493.
[12] T. Matsuura, S. Saitoh and M. Yamada, Representations of inverse functions by the integral transform with the sign kernel, Frac. Calc. Appl. Anal. 2, (2007), 161-168.
[13] M. Rösler and M. Voit, An uncertainty principle for Hankel transforms, Ame. Math. Soc. 127, (1999), no.1, 183-194.
[14] S. Saitoh, Applications of Tikhonov regularization to inverse problems using reproducing kernels, J. Phys. Conf. Ser. 73, (2007), 1-12.
[15] S. Saitoh, Approximate real inversion formulas of the gaussian convolution, Appl. Anal. 83, (2004), no.7, 727-733.
[16] S. Saitoh, The Weierstrass transform and isometry in the heat equation, Appl. Anal. 16, (1983), Issue.1, 1-6.
[17] A. L. Schwartz, An Inversion Theorem for Hankel Transforms, Proc. Amer. Math. Soc. 22, (1969), no. 3, 713-717.
[18] K. Stempak, La theorie de Littlewood-Paley pour la transformation de Fourier-Bessel, C. R. Acad. Sci. Paris Sr. I Math. 303, (1986), 15-18.
[19] K. Trimèche, Inversion of the Lions translation operator using generalized wavelets, Appl. Comput. Harmonic Anal. 4, (1997), 97-112.
[20] K. Trimèche, Transformation intégrale de Weyl et théorème de PaleyWiener associés à un opérateur différentiel singulier sur $(0,+\infty)$, J. Math. Pures Appl. 60, (1981), 51-98.
[21] V. K. Tuan, Uncertainty principles for the Hankel transform, Integral Transforms Spec. Funct. 18, (2007), no.5, 369-381.
[22] G. N. Watson, A treatise on the theory of Bessel functions, $2^{n d}$ ed, Cambridge Univ. Press, London/New-York 1966.

## Slim Omri

Département de Mathématiques Appliquées, Institut Supérieur des systèmes industriels de Gabès
Rue Slaheddine El Ayoubi 6032 Gabès, Tunisia
e-mail: slim.omri@issig.rnu.tn
Lakhdar Tannech Rachdi
Département de Mathématiques, Faculté des Sciences de Tunis El Manar II - 2092 Tunis, Tunisia
e-mail: lakhdartannech.rachdi@fst.rnu.tn


[^0]:    *Mathematics Subject Classifications: 44A15, 46E22, 35K05.
    Key words: Weierstrass transform, best approximation, Hankel transform, reproducing kernel, extremal function.
    © 2009 Universiteti i Prishtinës, Prishtinë, Kosovë.
    Submitted March, 2009. Published May, 2009.

